Moonwalker Event Guide
Walker Materials
If you do not have the walkers pre-cut, you will need to laser cut the MDF and acrylic parts yourself. Home Depot sells 1/4" thick, 2’ by 4’ sheets of MDF for about $6.50, and each has enough material for 1.5 walkers. We recommend freckleface.com for acrylic. You will need to arrange the acrylic pieces yourself, but a 1/4" thick, 16” by 24” piece should fit at least 10 walkers’ worth of parts. You will want to cut the MDF at the same settings as the acrylic, as recommended by the manufacturer of your laser cutter. 
You will also need to purchase the following items from Mcmaster.com. The quantities listed are per individual walker. 
	Part
	Qty
	Estimated Cost
	Item Number

	SAE 863 Bronze Sleeve Bearing, for 1/8" Shaft Diameter, 1/4" OD, 1/4" Length
	2
	$0.47 each
	#2868T32 

	Wood, Oak Dowel Rod, 1/4" Diameter, 36" Length
	1
	$0.98
	#96825K73

	Highly Corrosion-Resistant 6063 Aluminum, Architectural Rod, 1/8" Diameter, 2 ft Long
	1
	$1.13
	#1640T11 

	Steel Oversized Key Stock, 1/8"x1/8", 12" Length
	1
	$0.66
	#98830A100 

	Optically Clear Cast Acrylic Sheet, 1/4" Thick, 6" x 6"
	1
	$5.49
	#8560K358 



Additionally, you will need to purchase one box of 1/2" AGB washers per 5 walkers, two 1/4"x1-1/2" Hex Bolts per walker, two 1/4" Hex Nuts per walker, and one rubber band per walker. 
Event Supplies
To run the event, you will also need: 
-Hot Glue Guns (1 per 2-4 kids)
-Extra Hot Glue Sticks
-Ramps (1 per 5-10 kids)
-Wire Cutters (1 per 5-10 kids, optional)
-Hacksaw (1 per 5-10 kids, optional)
Instead of the aluminum rod from McMaster, you can use these pins (one pack per 25 walkers), in which case you will not need the wire cutters. 
Event Tips
You may want them to wear gloves and smocks, since the sides of the walkers will be covered in a light ash. It’s messy, but easily washes out. Likewise, you may want to put down newspaper or something similar for easier clean-up. 
At the start, make sure everyone has all the MDF parts. You may want to go through the list (Front Outer Frame, Back Outer Frame, two Weight Boards. Right Outer Leg, Left Outer Leg, Outer Leg Top, Right Inner Leg, Left Inner Leg, Rubber Band Holder, Pegs, Spacers) and have them raise each part in the air, depending on the age of the participants. 
Make sure that all text faces outwards. This is only critical for the cam mechanisms, but keeping them in the habit throughout will be helpful. 
A “Right” piece can be substituted for a “Left” piece (or vice versa) by putting the text on the inside. This is even true for the cams and cam valves!
It will be useful to practice the instructions beforehand, and maybe even build a demo model alongside the participants so that they can get a visual reference of where they are. 
Practice walking a walker beforehand, so that you will be able to identify if someone is having trouble walking it, or if there is a problem with their walker. 
The bent bearing axles should extend about an eighth of an inch past the bearing. Too short and the bearing won’t rotate as well, and the inner legs will slide back and forth. Too long and there will be too much friction, and the inner legs won’t move fast enough. 
[bookmark: _GoBack]It does not matter how long the longer side of the bent bearing axle is, as long as it can be glued to the side of the outer legs. 
The most obvious problems to spot are if globs of glue go too far past the surface, the aluminum bearing shafts do not extend past the bearings, or that they extend too far, or that the tape sticks out and the legs get caught. If none of these seem to be the problem, try launching it yourself. If you can’t get it to walk, try to figure out which part is causing the walker to fall. It’s possible there won’t be an obvious or easy fix, in which case you will want to pair the participant up with another so that they can still try walking the walker for themselves. 
The ideal distribution of washers is 5 on each of the bottom holes, but you should encourage the participants to experiment and see if they can find anything even better!
